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Level 3 Biology, 2016
91606  Demonstrate understanding of trends 

in human evolution

2.00 p.m. Thursday 10 November 2016 
Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of trends in 
human evolution.

Demonstrate in-depth understanding of 
trends in human evolution.

Demonstrate comprehensive 
understanding of trends in human 
evolution.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 15 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Achievement

13

No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.































Annotated  Exemplar  Biology  Level  3,  91606  

Achieved  exemplar  2016  

Subject:   Biology   Standard:   91606   Total  score:   13  

Q   Grade
score   Annotation  

1   A4  

The  candidate  correctly  identified  the  location  (or  function)  of  4  skull  features  
which  support  skull  A  being  older  than  skull  B.  

In  order  to  attain  Merit  the  candidate  needed  to  explain  how  one  or  more  of  the  
features  can  be  linked  to  evidence  of  bipedalism  or  to  types  of  food  eaten.  

2   M5  

The  candidate  correctly  explained  two  adaptive  advantages  in  the  cultural  
evolution  of  H.  erectus  and  H.  neanderthalensis.  

3   A4  

The  candidate  correctly  identified  2  reasons  for  the  dispersal  of  H.  sapiens  -­  
competition  for  resources  and  change  in  ocean  level/  land  bridges.  

Also  stated  the  Out  of  Africa  theory  is  supported  by  the  use  of  mtDNA  to  trace  
back  to  a  ‘mitochondrial  ‘Eve’  and  that  admixture  would  have  increased  the  
survival  and  reproduction  rate  of  these  hybrids.  

To  attain  Merit  the  candidate  needed  to  explain  the  importance  of  the  
environment  for  dispersal  or  the  evidence  used  to  support  the  Out  of  Africa  
dispersal  model.    




